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General Instructions :

(i) There are 36 questions in all. All questions are compulsory.

(i)  Marks for each question are indicated against the question.

(iii)  Questions ffom serial number 1 to 16 are multiple choice questions
(MCQs) of 1 mark each. Every MCQ is provided with four
alternatives. Write the correct alternative in your answer-book.

(iv)  Questions from serial number 17 to 29 are 3 marks questions.
Answer of these questions should not exceed 80 words each.

(v)  Questions from serial number 30 to 34 are 4 marks questions.
Answer of these questions should not exceed 100 words each.

(vi)  Question nurﬁber 35 is a map question of 2 marks from History and
Question number 36 is a map question of 3 marks from Geography.

(vii)  Attach the filled-up maps inside your answer-book. L3
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faferfiaa o @ fram o gecft’ ames we e |e SR 7
(A) 373 9 frmahs |
(B) gad Af
(C) #eth=
(D) IEH MEHE T

AYAT

T A P T TR T o P e e i e e
(A) =M feme feum

(B). @t

(C) aeTeT

(D) TH.UA.TH.

Who, among the following formed a secret society, called “Young Italy’ ?
(A) Otto Van Bismark

(Bj Giuseppe Mazzini

(C) Metternich

(D) Johann Gottfried Herder

OR

Who, among the following took power in the Southern part of Vietnam

after the division of the country ?
(A) Ngo Dinh Diem

(B) Ho -Chi Minh

(C) Bao Dai

(B N.LF.

[P.T.O.
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2. 1789 &I shifd ¥ Tgad % ° F=fcaiaa 3 & forg TerR ot aerR o ot T oft
(A) dETRITE
(B) &
(C) W=t amrient &t e
(D) TSaA

YT

frefefaa # & ‘Frem’ & 98 4 99 9 97
(A) ToFam o T aTel BT ATt

(B) ¥ H & ATt BT AR

(C) Torrammm < farféra im

(D) Torram & 2 ST

Which one of the following types of government was functioning in France

before the revolution of 1789 ?
(A) Dictatorship
(B) Military
(C) Body of French Citizen
(D) Monarchy |

OR
Who, among the following were known as ‘colons’ ?
(A) French citizens living in Vietnam
(B) French citizens living in France
(C) Educated people of Vietnam
(D) Elites of Vietnam

32/1/1 4
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TeTent meft I foer F = e & fFamt 1 gaasrl S sEeen & faas
g i o foru FforRaa o @ fora a9 o Uit foman -
(A) 1916
(B) 1917
(©) 1918
(D) 1919 | ' 1

In which of the following years Mahatma Gandhi inspired the peésants of

32/1/1

‘Champaran district of Bihar to struggle against the oppresive plantation

system :
(A) 1916
(B) 1917
(C) 1918
(D) 1919

frafafaa s ada e fteyl 8 o o ‘srogam see’ & fomm

&I SRR TR e '

(A) WTER AfEERE

(B) FATg SferaT

(C) ekl (ShTeTahTar) SAfREsH

(D) == (SIeE) e | 1

In which one of the following Indian National Congress Sessions, the idea

of ‘Non-Cooperation Movement® was accepted?
(A) Lahore Session

(B) Nagpur Session

(C) Calcutta (Kolkata) Session

(D) Madras (Chennai) Session

5 | [P.T.O.
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EONO
YREUE HI HISH TH-TIREN U HefaRad @St # & foreshl Saof
3T 27 | ' '
(A) e
(B) dTeETEE
(C) wite-3r&h
(D) ¥=
Kodarma Gaya-Hazaribagh belt of Jharkhand is the leading producer of

which one of the following minerals ?
(A) Copper
(B) Bauxite
(C) Iron-ore

(D) Mica

frferfiaa $emt & & for 1 wTaRoT- STgRet W STTaT 27
(A) HFa
(B) ugiferm

(C) ki |
(D) SiATaH IRl

Which one of the following fuels is considered environment friendly ?
(A) Coal

(B) Petroleum

(C) Natural gas

(D) Firewood



EOoNO e
7. ot we & T sai vonfia e # feferiaa ekl § 9 9 wad st
TEequt yftreRt e 27
(A) e AT
(B) SN

(C) IdH IcqTeH SrTd
(D) iR 1
Which one of the following factors piays the most important role in the

location of an industry in a particular region ?
(A) Raw material

(B) Market

(C) Least production cost

(D) Transport

8. Ta=fafas uoat 9 9 = a1t 3w I uma g7
(A) hieeT |
(B) hictepran
(C) g |
(D) T | !
Which one of the following is an inland riverine port ?
(A) Kandla
(B) Kolkata
(C) Mumt;ai

(D) Tuticorin

SRR 7 [P.T.O.
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400
ﬁmﬁf@ﬁﬁ%aﬁqm‘?ﬂﬂﬂw’ww%ﬂﬁw%ﬁmﬁdﬂchﬁmg«_l?
(A) sifefen
(B) sfcsm
(C) arae
(D) uT

Which one of the following is the ‘Third Wave’ country that had won

democracy in 1990?
(A) Bolivia

(B) Belgium

(C) Bangladesh
(D) Nepal

freferia & & forem siferfoan 3 Sie & Fsferon & faems’, @ 1 ge
form 7

(A) TSI gat 3

(B) foramid

(C) r@Hl % HHfheht 3

(D) WEHRA

Which among the following led the struggle against ‘privatisation of

water’ in Bolivia ?

(A) Political parties

32/1/1

B) F armers
(C) Factory workers

(D) FEDECOR
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frerferfiga o O fora e -d3 &1 999 311 9H1 T4 27

Which one of the following is considered the best form of government ?
(A) Democracy

(B) Dictatorship

(C) Monarchy

(D) Military Rule

frefarRaa o @ o it Aenaa St faivar i 2 7

(A) I ARTRERT § GHT i ST 3T 3

(B) Ie 3t Fofa dar 2

(C) 7o% Huel § Agadt ATt 2

(D) g =afdd i T I T B 1

Which one of the following is not the quality of democracy ?
(A) It promotes equality among citizens

(B) It takes quick decisions

(C). It improves the quality of decision making

(D) It enhances the dignity of the individual

9 [P.T.O.
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13. 1o s fafae & ged | frefafaa § & gad sugea oA R A e?
(A) 92 GI8 T qHT 2
(B) 7% @ giaaen?

(C) Ig Hay TEdT il 8

(D) & SR A = e

Which one of the following statements 1s most appropriate regarding
transactions made in money ?

(A) It s the easiest way

(B) Itis the safest way

(C) Itis the cheapest way

(D) It promotes trade

14. YRAH FRAA §e F=falad 9 9 frae gad 81 3cq1ee 7
(A)
(B) Uf¥RH TeH
(C) w™adA
(D) frwTe
‘Cargill Foods’ is the largest producer of which of the following in India ?
(A) Medicines
(B) Asian Paints
(C) Edible oil

(D) Garments

32/1/1 10
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15. fafafed & @ fFa @ &1 IWM FH A= % TG & foe fwa
Sare? ; :
(A) 3TTE.TH.3T.
(B) e
(C) T
(D) aéw.h. | '
Which one of the following logos is used for standardisation of agricultural
products ?
(A) LS.I
(B) Hallmark
(C) Agmark
(D) LS.0.

16. e et suviver =1 STSTR § i 2 £, ) Frtfed 3 @ 58 feg = |
ohaHT S HET A1
(A) T =R
(B) TSI =EHE

(C) =" Ied

(D) Uil =rTer | ' 1
In which one of the following courts a consumer should file a case if he/she

is exploited in the market ? '

(A) Local court

(B) State court

(C) Supreme court

(D) Consumer court

32/1/1 11 ' " [P.T.O.
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17. ST 31 wehteRtoT shi fshan 1 o it |
3eran
Eéﬁﬂmqﬁ?ﬁwaﬁwavhm,ﬁ%mwﬁ%ﬂﬁﬁﬁammﬁ
forenfera foram | | | 3
Describe the process of unification of Germany.

OR

Describe infrastructural projects which were developed by the French

colonisers in Vietnam.

18.  3TEEANT Tere wedl A -+t et o= Te1? 18 i o wE hifs | 3x1=3

Why did Non-Cooperation Movement gradually slowdown in cities?

Explain any three reasons.

19. WA 1 Tl o9 Tiig-31a%eh ot Y@ Ufedi &1 Seaid shifere | Ted gfevft ofre-
31 o 921 o 1S oA fersiwand ferfiag | 1/2+1%2=3

Mention any three major .iron-ore belts of India. Write any three

characteristics of the southern most iron-ore belt.

20, SR A P TR R T B R S s R e AT 142=3

How do industries pollute air? Explain ill effects of pollution.

32/1/1 |
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21. YRS aut § gt o9 3@ 9ERg 3R [Sa H wOE Iced U §
THEa ar? P T IR wmE R 3x1=3

Why was cotton textile industry concentrated in the cotton growing belt of

Maharashtr‘a and Gujarat in the early years? Explain any three reasons.

22.  3AYA 2006, 9T H Alhad o ToTT U AR I JUH HIfT | | - 3

Describe the movement for democracy in Nepal, April 2006.

23 MYfE Ared ToHTE 3ol % T F 98 3E GeRdT ¢ HE O R TE
Hif| | S 3x1=3

Why can’t modern democracies exist without political parties ? Explain any

three reasons.

24, 9RA T ST el SR 3Tk Al 1 GUR % T g writesn R
33T U A 39T Shi T8 shifsu | ' ' . 3x1=3

Explain the three steps taken by the different authorities to reform political

parties and their leaders in India.

25. ‘‘Ogifom wa c?ichciﬁ 1 =BT AT 91T 2, T TR § 0 ga1 =1 Tl
HHT ST 39 &9 ol gfE ae afgd i | : 3

“Democracy is seen to be good in principle but felt to be not so good ‘_in

practice.” Support the statement with an argument.

32/1/1 13 [P.T.O.
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26. [ HTTY mgﬁmgﬂaﬁﬁﬁﬁﬁﬁmwmmaﬁ weftenT fopa stan 27 1+2=3

What is money ? Why is modern money currency accepted as a medium of

exchange ?

27. HEQ IR AW % ITIEHA F <9 o foeE % e F aeeaqul 27 ofiF HRe T
) 3x1=3

Why is cheap and affordable credit important for the country’s

development ? Explain three reasons.

28. FEUYN FHulET fofg TR 3799 31T A1 gL oM H TER T 87 TF IS0
fa T i 3

How are M.N.Cs. spreading their production across countries? Explain with

an example.

29, aﬁwmaﬁq%ﬁaﬁﬁﬁ%mmmmm%ﬂaw@ﬁﬁw
grm? forel i fargatt =t wm shifs | 3x1=3

What would happen if Government of India puts heavy tax on import of

Chinese toys? Explain any three points.

30. Uiferd 7 F:HdE W9 § Ak Sl T8 TR o1, Wy SR &9 § 36
IfrRr RagTit o6t GeTareT foa o, s T e s adeTa ﬁ?@ﬂa
aqaéaf’ww:raﬁg@?ﬁﬁm 4

32/1/1 _ 14



408@

eraT
“TorraT % SeaR | g ¥ g % U ° qedie gre @ T 39 YA 1 g
hiferg |

“Napoleon had, no doubt, destroyed democraC); in France, but in
the administrative field he had incorporated revolutionary principles in
order to make the whole system more rational and efficient.” Support the

statement.
OR

“The division of Vietnam set in motion a series of events that turned the

country into a battlefield.” Support the statement.

31. G TET AR & T A 3R Sufafites TR ¥ R yer gt s
17 T Fifs | 2+2=4

How did people and the colonial government react to the Civil

Disobedience Movement ? Explain.

32, “wqa‘amqmqaﬂmﬁwwaawmt@a IR FAUEE =R F
foTe & 7uféra €17 39 e &1 IR dent Tfed gfE Fi | 4x1=4

“Dense and efficient network of transport and communication is a pre-
requisite for national and international trade.” Support the statement with -

four arguments.

32/1/1 15 [P.T.O.
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TUR & $B o9 @lhad & [ORIR I FHId! 1 fhd YR AT R @ 87
IeTETt wfed wre i | 4x1=4

How are some countries of the world facing the ‘challenge of expansion of

democracy’? Explain with examples.

foregi U = adieh! w1 T hIfSTe, S8 SuMRIs R ISR A OO ElaT 21 4x1=4

Explain any four ways in which consumers are exploited in the market.

IR % f3u 7 veifaes Yar-amtea § € @evr- A 3k B sifed e 21 =
ALoT =1 = € 72 SRR T Hee U Ug=THY R Ik e A1 AT W i
TE Yarat w forfian

(A) % TIH ST faawer 1920 H YR TEE HId 1 STRERE gt ol

(B) = T el oRId H foRemi &1 3Tieier g o 2x1=2
e

mﬁﬁwmﬁwﬁﬁﬁﬁ@mﬁ@w%@q:

(i) - - i@ s s o guTe R T o

(il)  TTAT — F&I ST ST T 5 |
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Two features - A and B are marked in the given political outline map of
India. Identify these features with the help of the following information and

write their correct names on the lines marked in the map :

(A) The place where Indian National Congress Session was held in

September 1920.

(B) The place where the Peasant Satyagraha was held in Gujarat.
OR

~ Locate and label the following items with appropriate symbols on the same

map :

(i)  Chauri-Chaura — The place of calling off the Non-Cooperation
Movement (N.C.M.) .

(i) Amritsar — The place where Jallian Wala Bagh incident took place.

Az : Frefefad s e gt whenfiat & fo, awf e aw den 35 %

T WS :

(35.1) fewmr 1920 # FFE ToM W 9Rd™ T wEE @ AfETE gan

o7 ?

(35.2) 39 AW 1 T8 FAT3C, S oA § [REM] 1 GeATI8 G371 91 | 141=2

32/1/1 oL [P.T.O.
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Note : The following questions are for the BLIND CANDIDATES only, in licu
of map Question Nos. 35 :

(35.1) At which place Indian National Congress Session was held in |

December 19207?

(35.2) Name the place where the Peasant’s Satyagraha was held in

Gujarat.

36. WA % fou U geifees Yar-amte § e aeor A B 3R € =iferd fopu 7w B |
29 A0 Y Tg=E i & TE S i qeg @ shifeie TR 396k Tet AW A
o @i=f 7E Tt w fefau

(A) ohe-sTrE tCic]
(B) o &=
(C) 1. OF H&AT 7 o1 3Tf<H ©IH © 3x1=3

SPE
it s =11 221 e T ) e s < T A
(i) @ﬁg—?ﬁaaﬁtwm . |
(i1) %m—mvri%ﬁmrfw

(iii)  forTrRETITH — |gE o

32/11 : 18
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Three features - A, B and C are marked in the givén political
outline map of India. Identify these features with the help of the
following information and write their correct names on the lines marked in

the map :

(A) Iron-ore mine
(B) Oil field

(C) Terminal Station of N.H. 7
OR
Locate and label the following items with appropriate symbols and write
their correct names on the same map :
(i)  Durgapur — Iron and Steel Plant

(1) Kaiga — Nuclear Power Plant

(iii) -~ Vishakhapatnam — Sea Port

are ;. Fefafaa g Fae ghedm afenfdat & o, aefs 9ot g @@ 36 &

T WE:

(36.1) TSI HEMN G&AT 7 % a9 I ©YH 1 19 Fd1EU |

(36.2) F FTUIfaes S o R T A fem B

(36.3) IH TS 1 ATH T30, SEH YL ANl 3R 3807 6o fera 2 | 1+1+1=3
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Nate : The following questions are for the BLIND CANDIDATES only, in lieu of

map Question Nos. 36 :
.(36.1) - Name the northern terminal station of N.H.7.
(36.2) In which State Kaiga nuclear power plant is located?

. (36.3) Name the State in which Durgapur iron and steel plant is located.
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